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Understanding Absolute Value Name:
Usethe numberlinesto find the absolute value. Answers
1) a Whatisthevalueof 'A'? -20 -10 Cl) 1|0 | 2|0
G+ttt
b. How far is'A' from 0 A 1
(absolute value)?
2.
2) a Whatisthevalueof 'A'? -20 -10 0 10 20 5
b. How faris'A' from O A
(absolute value)? .
3) a What isthe value of 'A'? -2|0 | -1|0 Cl) 10 20 5
e
b. How far is'A' from O A
(absolute value)? 6
4) a Whatisthevalueof'A'? -20 -10 (l) 1|0 | 2|0 7
G+l e ety
b. How faris'A' from O A
(absolute value)? 8.
5) a Whatisthevaueof 'A'? -20 -10 Cl) 1|0 | 2|0 9
4+ttt
b. How far is'A' from O A
(absolute value)? 10.
6) a What isthevalueof 'A'? -2|0 | -1|0 (l) 1|0 | 20
b. How far is'A’ from O <.HH.HH.HHHH.HHHH.HH.}HXJ-}
(absolute value)?
7) a Whatisthevalueof 'A'? -20 -10 0 10 20
\\l\\\\\\\\l\\\\\\\\l\\\\\\\\lL
bHOWfarISIAIfromO <_|_H_’_H_"X\\I\\\\ rT 1T T T T T1 \\\\I\\\\I\\\\IV
(absolute value)?
8) a What isthevalue of 'A'? -2|0 | -1|0 (l) 1|0 20
b. How far is'A’ from O <.HH.HH.HHHH.HHHH.:W
(absolute value)?
9) a What isthe value of 'A'? -2|0 | -1|0 Cl) 10 20
e
b. How far is'A' from O A
(absolute value)?
10) a What isthevalueof 'A'? -20 -1|0 (l) 1|0 | 2|0
b. How far is'A’ from O <—|—0—0—0—¢—|—0—0—+x.HHHH.HHHH.HH.HH.:
(absolute value)?
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 7




-

Understanding Absolute Value Name: Answer Key
Use the numberlinesto find the absolute value. Answers
1) a Whatisthevalueof 'A'? -20 -10 Cl) 1|0 | 2|0 5 5
G+ttt -
b. How far is'A' from 0 A L
(absolute value)?
2 -1 1
2) a Whatisthevalueof 'A'? -20 -10 0 10 20 5 9 9
b. How faris'A' from O A
2
(absolute value)” . 8 3
3) a What isthevalueof 'A'? -2|0 | -1|0 Cl) 10 20 5 -3 3
e
b. How far is'A' from O A
(absolute value)? 5 19 19
4) a Whatisthevalueof 'A'? -20 -10 (l) 1|o | 2|o 7. -13 13
4+t oty
b. How faris'A' from O A
(absolute value)? 8 12 12
5) a Whatisthevalueof ‘A2  -20 10 0 0 20 |° 10 10
4+ttt
b. How far is'A' from O A
(absolute valug)? w0 -11 11
6) a What isthevalue of 'A'? -2|0 | -1|0 (l) 1|0 | 20
b. How far is'A’ from O <.HH.HH.HHHH.HHHH.HH.H%XJ—»
(absolute value)?
7) a Whatisthevalueof 'A'? -20 -10 0 10 20
\\l\\\\\\\\l\\\\\\\\l\\\\\\\\lL
bHOWfarISIAIfromO W\\I\\\\ rT 1T T T T T1 \\\\I\\\\I\\\\IV
(absolute value)?
8) a What isthevalue of 'A'? -2|0 | -1|0 (l) 1|0 20
b. How far is'A’ from O <.HH.HH.HHHH.HHHH.:W
(absolute value)?
9) a What isthe value of 'A'? -2|0 | -1|0 Cl) 10 20
e
b. How far is'A' from O A
(absolute value)?
10) a What isthevalueof 'A'? -20 -1|0 (l) 1|0 | 2|0
b. How far is'A’ from O <—|—H—0—H—H—+x.HHHH.HHHH.HH.HH.:
(absolute value)?
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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Name:

Understanding Absolute Value

Usethe numberlinesto find the absolute value.

Answers

1 N o
oA oA o o O.&A o o4 oA o o4
N AN AN AN N Y AN N AN AN N[

T T T T T < T
o_l o_l o o o_l o o_l o_l o o_l
—A [ —A [ — —AY —A [ — —A [ —A [ —A [ —A [
o— o— o o— o— o— o— o— o— o—
o I o o oI o I oI o I o o I o
i A < A i A i A i A

T T T o< T

o o o o I o I o I Om o o I o
AN (9\] AN AN— AN—T AN— AN AN AN—T AN
1 1 1 LI 4 1 v LI 4 1 1 1 v 1

1) a What isthevalueof 'A'?

b. How faris'A' from O

(absolute value)?

2) a What isthevalue of 'A'?

b. How faris'A' from O

(absolute value)?

3) a What isthe value of 'A'?

b. How faris'A' from O

(absolute value)?

4) a. What isthevalue of 'A'?

b. How faris'A' from O

(absolute value)?

5) a What isthe value of 'A'?

b. How faris'A' from O

(absolute value)?

6) a What isthe value of 'A'?

b. How faris'A' from O

(absolute value)?

7) a What isthevalue of 'A'?

b. How faris'A' from O

(absolute value)?

8) a What isthevalue of 'A'?

b. How faris'A' from O

(absolute value)?

9) a What isthe value of 'A'?

b. How faris'A' from O

(absolute value)?

10) a What isthe value of 'A'?

b. How faris'A' from O

(absolute value)?
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ﬂh Understanding Absolute Value Name: Answer Key

Usethe numberlinesto find the absolute value. Answers
1) a Whatisthevalueof 'A'? -20 -10 0 10 20
11l | | | | | | | | | | | | | | | |L -
b. HOW far iSlAl fromo W\ T 1T 1T T 11 I rT 1T T T T 17 I rT 1T T T T 17 I T rm l 14 14
(absolute value)?
2 -7 4
2) a Whatisthevaueof 'A? -20 -10 | (l) | 1|0 | 2|0 5 1 1
G+t e ety -
b. How faris'A' from O A
2
(absolute value)” . 10 10
3) a Whatisthevaueof 'A? -20 -10 0 10 20 5, 20 20
b. How far is'A' from O ¢ A. »
(absolute value)? 6. 5 5
4) a What isthe value of 'A'? -2|o | -1|o | (l) | 10 20 7. =17 17
PR I I T M I S T
b. How faris'A' from O A
(absolute value)? 8. -6 6
5) aWhaisthevdueol’A? 20 10 0 10 20 [ 12 12
b. How far is'A’ from O 4.111m11m11mH:.HH.HH.HH.:H:X» 5 5
(absolute value)? 0.~
6) a What isthevalue of 'A'? -2|0 | -1|0 | (l) 10 20
e e ey
b. How faris'A' from O A
(absolute value)?
i A =20 -10 0 10 20
7) aWhatISthevalueOf A ) ‘ .\ | | | crr b rra | crr b rra | crr b rra |L
b. HOWfarISIAI fromo A\ r—rr - rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrre
(absolute value)?
8) a Whatisthevalueof 'A'? -20 -10 | (l) | 1|0 | 2|0
G+ e ety
b. How faris'A' from O A
(absolute value)?
9) a Whatisthevaueof 'A? -20 -10 0 10 20
Al | | | | | | | | | | | | | | | L
b. HOWfarISIAIfromO T \I\ T T T T 11 \I\ T T T T 11 \I\ T 1 \I\W
(absolute value)?
10) a What isthevalueof 'A'? -20 -10 (l) | 1|0 | 2|0
e
b. How faris'A' from O A
(absolute value)?
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Understanding Absolute Value
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Name:

Understanding Absolute Value
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Understanding Absolute Value
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